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1. BEH - BEVERIORS (EHR - SFHEREA)

£1-4 MEFRG - £iE5)
(1/1~=v)

= e 8
sEmE BEFLIE () ) BB () S4B (ko4 5" (1494 dng-TEQ/ ) BIE (ko 0 VR
-5
5 - o
T TK& =4
) WEAT i | 5w | 2 | x| ok | o e | aar | % | x| ek | xs BEE| 1w | mu | em | BRY S0 | e
E
3|72 MNY )L 1 1 1 1 1 0 0 2 1 0 1 47 0 0 0 47 1400 0 1400 1447
| TFLAEXFUR 1 1 1 1 0 0 0 1 1 0 1 2 0 0 0 2 620 0 620 622
IR EAV% 1 1 1 1 0 0 0 1 1 0 1 3 0 0 0 3 1800 0 1800 1803
12770810 A 2 2 2 2 1 0 0 3 2 0 2 400 0 0 0 400 9000 0 9000 9400
186|700 X4Y Y (R&EIEXAFL V) 1 1 1 1 1 0 0 2 1 0 1 210 0 0 0 210 6400 0 6400 6610
243 |4 A F ¥ 2 2 2 2 0 0 0 2 2 1 3 0.0711 0 0 0 0.0711 0.835 | 0.000000 | 0.835000 | 0.906100
015 015 015
300 (kLT 1 1 0 0 2 47 0 0 0 47 2700 0 2700 2747
32|/ LRI —A~"FH 3 3 3 3 1 0 0 4 3 0 3 612 1 0 0 613 19700 0 19700 20313
&5t 12| 2| 2| 12 5 0 o 7| 12 1 13 1321 1 0 0 1323 41620 o| 41620 42043
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1. BEH - BEVERIORSE (EHR - BARFHRA)

£1-4 MEFRG - £iE5)
(1/1~=v)

sz BEBEFL) HEHE () BRI () HFH R (ko/ 59" 4449788 dng- TEQ/ %) e SR
-7
5 - 28
T Tk =
) WEAT et | m | om |k |k [t | mu |ont | = [ & |est| xn | B8P | tm | mu | ax [ PGP | Ko | e
w | & BE
176 (1, 1—=yyO0Q—-1—-2)LAQT4% > 1 1 1 1 0 0 0 1 1 0 1 100 0 0 0 100 1700 0 1700 1800
(MEZLHCFC—141b)
185 lyrvOoORy4 7)[,2|'|:|7°|:|/("/ (3IJ% 1 1 1 1 0 0 0 1 1 0 1 340 0 0 0 340 1200 0 1200 1540
HCFC—225)
23|11 A x> V8 2 2 2 2 0 0 0 2 2 0 2 | 0. 000462 0 0 0 | 0.000462 @.@0@121302) 0] o. 0001?3 0. 0006411%
w2 |=hso0TFL Y 1 1 1 1 0 0 0 1 1 0 1 65 0 0 0 65 1800 0 1800 1865
438 X%)I/j'7'9 L 1 0 1 1 0 0 0 1 0 0 0 14 0 0 0 14 0 0 0 14
'S‘E‘I‘ 6 5 6 6 0 0 0 6 5 0 5 519 0 0 0 519 4700 0 4700 5219
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